N = 0l & At & Ml A

20202 = =0 &F LS MA2S

SN Me2s
B MOIpE AIYZ Y
Sl WHEXME HA2Y 2 HOAAL X (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
MA2ES 312,306 285,547 26,759
MAPE AP AH HI 229,186 211,187 17,999
HESAHEH WHASE L HoAAIL X 126,226 136,287 A 10,061
FOUTXAMH 2 79,856 81,806 A 1,950
201 et A | 15,536 17,486 A 1,950
01 AFR2t2l Yl 15,036 16,986 A 1,950
OdHE2g Litx==H| 3,000,000 3,000
O8&) & ZHEZSED dx&
253,000& x12& 3,036
O+ 30,000& x25H x12& 9,000
02 53294l 500 500 0
OA & &Hl S XYl 500,000& 500
301 dBtEA =2 64,320 64,320 0
09 HALAHIXI &2 3,000 3,000 0
OFUNXFAZ /s L 2NUXEHAH AS
(13l) 100,000& *25H 2,500
OFoXxNEZ)H 29 500,000& 500
12 JIEtE &2 61,320 61,320 0
OFgNE-S=] 61,320,000& 61,320
FOIEOIAIE K& 46,370 37,481 8,889
201 LEt2 Y| 35,770 34,981 789
01 AFR2t2l bl 20,270 17,681 2,589
OFAMBABHIAAY SHE 275,000 *12& 3,300
OAZANE GHHEY U8 242
125,000& = 12& 1,500
O&%J ¢ Hld ¢x= 330,000& x12& 3,960
O3J1&838) Lx =z 50,000& =20 12& 1,200
OFAN A5 28d= 50,000& x12& 600
OXMIIHMEH = 125,000& x12& 1,500
OFAN HA 892 3,600,000 3,600
Otz g8 2¢ 2,500,000 2,500
Os2)] B UHE=2Z 165,000& 122 1,980
Os2dI HIIZBAE=E2 130,000& 130
02 33249l 15,500 17,300 A 1,800
OoxgeEgas ¥ KX 7,000,000 7,000
OFA HHH MEZ 3,000,000& 3,000
OF AR XY 5,000,000 5,000
OExHE 500,000 500
203 ¥R =&XH| 2,500 2,500 0
03 AIHZ=XH R =X 2,500 2,500 0




SM: MRS
M MoioE AYEHY

Sl BHSXNME HASY L BIAL N (el:de)
A - HE B9 (3A) - HRAY - BHYS Ol &+ o4 SSa HmEET
OMH2E SELURAIMFA 2,500,000& 2,500
401 Al HIZ 201 8] 2,500 0 2,500
01 A& HI 2,500 0 2,500
OS2 2&8 dB &EX(48) 2,500,000 2,500
405 XHoHF S HI 5,600 0 5,600
01 AR EZFH S 5,600 0 5,600
oda e ¢ 200,000& 104 2,000
otlole + 90,000& =404 3,600
sSclgtdasEy 101,100 73,100 28,000
SCIBRESBAIH 101,100 73,100 28,000
301 LA F 101,100 73,100 28,000
05 8% -0 -tH¥ESE43 101,100 73,100 28,000
os&=¢ 300,000& *20H 123 72,000
OsZ&dNH3 300,000 x20H 2 & 12,000
Os&sogasdd 20,0003 «20H 23| x 128 9,600
Otttz &=l 50,0003 150 13| 7,500
SEE =X R FA 1,860 1,800 60
gEsd =X 22 1,860 1,800 60
201 £B-2%H| 600 0 600
02 =224l 600 0 600
OUMXIZOI(ABERX)S A= (300)
600,000 600
202 Odl 1,260 1,800 A 540
01 = LHA YI 1,260 1,800 A 540
OXEE=XN g2+ 0l 1,260,000& 1,260
HY2FHH (MH2E) 83,120 74,360 8,760
Jl2dH(M428) 83,120 74,360 8,760
2 (MH2E) 83,120 74,360 8,760
201 £B-2%H| 43,800 39,000 4,800
01 At 22l 13,000 13,000 0
OFN2I AR 22l 13,000, 000& 13,000
02 2324l 30,800 26,000 4,800
OHIIR3 1,500,000& 122 18,000
O&ot=& 23 250,000& »12& 3,000
ORER= 5,000,000& 5,000
OFA Ht TAIJIARZ 400,000 =124 & 4,800
202 O4dl 24,300 24,840 A 540
01 = LH 4 Hi 24,300 24,840 A 540
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